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1. The tapered shaft is fixed at end B and is subjeétéd toatorque T. lthas a length L and a
radius r at end 4 and 27 at end B. The shear modulus is G. Determine (a) the angle of
twist of end 4, and (b) the maximum shearing stress in the shaft. (25%)

2. The girder CD of the structure is to support the cable loading by a weight 1000N, Please
~ determine the maximum bending stress in the girder CD if 4, B and C are pin-jointed.
~ (Please use free body diagram to analyze) |
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3. For the cantilever beam and loading shown, determine the deflection and slope at end D
caused by the couple My.  (25%)

4. As shown in the following figure, the solid round bar with a diameter of 80 mm is fixed
at one end. At the other end, the bar is subjected to a torque T and a tensile force 100 kN
acting 20 mm from the centerline of the bar. If the allowable maximum normal stress in
the bar is 80 MPa and the allowable maximum shear stress is 60 MPa, please determine
the largest safe value of 7. (25%)




